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GPS/GNSS

GPS
GPS
GPS
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- GPS
- GPS
MHz L 1575.42MHz
L =1227.6MHz
C/A P(Y)
PRN Pseudo Random Noise
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ephemeris

almanac
- GPS
=<
7.5
26,561km
12 (11 58 )
55<
L1:C/A code: 26W P code: 13W
L2:P code: 4W
L1=1.575.42MHz(10.23MHz><154)
L2=1,227.6MHz(10.23MHZz>=<120)
C/A code:L1
P code:L1,L2
L1:C/A code>-160dBW, P code>-163
( < ) L2:P code>-166dBW
C/A code: 100m(2drms:SA on)
(SPS) : 15 (2drms:SA off)
C/A code: 340ns(SA on)
(SPS) : 20ns (SA off)
WGS84 World Geodetic System
WGS84 DMA Defense Mapping Agency
1984 - GPS
GPS GPS
-13
GPS
utc Coordinated Universal Time
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1 1 22 TLM
2 31 22 HOW
3 61 10 WN [e)

73 4 URA

77 6 SVhealth

83 2 MSB 10DC
7 197 8 TGD 31 pay s
8 211 8 LSB 10DC

219 16 toc a4 s
9 241 8 af2 _55 o /s>

249 16 afl -43 o s/s
10 271 22 afO -31 (=] S

oc
Afo,ar1, a5
2
Att - _{afo + afl(t _toc)+ a; Z(t _toc) + Atr _TGD} 2-1
2e./ 1, A
o .
Atr = ——23|n E 2-2
C
A E

4, =3.986005x104 m*/s?




1 1 22 TLM
2 31 22 HOW
3 61 8 |ODE 8
69 16 Crs -5 o m
2 o1 16 An —31 ) sc/s
107 | 8 MSB
5 121 | 24 LSB Mo -31 © S€
6 151 16 Con 29 o rad
159 | 8 MSB
7 181 | 24LSB e 33
8 211 16 Coe —29 o rad
227 | 8 MSB B /2
9 241 | 24 LSB v 19 m
10 271 16 Toe 4 s
1 1 22 TLM
2 31 22 HOW
3 61 16 Ce _29 o rad
77 8 MSB
Q _
4 91 | 24LSB 0 31 © S€
5 121 16 Co —29 > rad
139 | 8 MSB :
6 151 | 24 LSB lo 31 © se
7 181 16 Coo 5 > m
197 | 8 MSB
8 211 | 24 LSB ©w -31 © s¢
9 241 24 o [N _43 o sc/s
10 279 14 I i _43 > sc/s
ephemeris
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-

(a) TEPDOE R

(b) HHFI#E




) right ascension of the ascending node
° inclinationangle i
) argument of perigee o
) semi major axis a
) eccentricity €
° true anomaly &
M =E-esinE

E

anomaly

J1-e?sinE

sin@ =
1-ecosE
oS0 cosE —e
l-ecosE
tO
t M (t)

mean motion N,

Q

b=ayl-¢’

0<ex«1l

mean anomaly M

2-3

eccentric

2-5



Ny = (%j 2:6

n=n,+An 2-7

M(t)=M, +27

T period of revolution

3
T=2x /i 2-8
He

toe M,
t =t—t, 2-9
M, =M, +nt, 2-10
=
E, =M, +esinE, 2-11
E, =M,

E, =E, +esinE,
E, =E, +esinE,

E..=E,+esinE 2-12

|E;,, — E;|=min



earth centered — earth

fixed
3
b =0+ 2-13
C u, r, I
u C. C
k ¢k uc us cos 2¢k
r. |=| Al—ecosE)|+|C,. C,. sin 24 2-14
Iy Ip +1't, Ce. G ‘
Qk = QO + (Q’ - Q:e )tk - Q,etoe 2-15

X, cosQ), —sinQ, cosi,
Y |=]SIin€Q,  cosQ, cosi, {
Z, 0 sini,

2-16

Q! =7.2921151467x10° rad /s

sc=semi-circle 1sc=rx rad



1 1 22 TLM
2 31 22 HOW
3 63 6 SV ID
69 16 e -21
4 91 8 toa 12 S
99 16 Si -19 o SC
5 121 16 Q' Q0 -38 o sc/s
137 8 SVhealth
6 151 24 VA -11 ml/2
7 181 24 Q0 -23 o SC
8 211 24 %) -23 o SC
9 241 24 MO -23 o SC
10 271 8 MSB afo
279 11 afl -38 o s/s
290 3 LSB af2 -20 o [
toa
1 1 22 TLM
2 31 22 HOW
3 63 6 SV ID 56
69 8 (e 0 -30 o S
77 8 (e8] -27 o s/sc
a o1 8 a, —24 o s/sc?
99 8 (@ £ -24 o s/sc3
107 8 Bo 11 o S
5 121 8 B1 14 o s/sC
129 8 B2 16 o s/sC
137 8 Bs 16 o s/sc?
6 151 24 Ay -50 = s/sce
7 181 24 MSB
8 211 | 81sB Po -30 © s
219 8 Tot 12 S
227 8 WN; 0 weeks
9 241 8 At ¢ 0 S
249 8 WNLSF 0 weeks
257 8 DN 0 days
10 271 8 JAN Y 0 S
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™ ] —-|— PER2 |
30 6 12 l 18 24
#AE, £ (h)
2 4
F|5x10° + AMP|1- 2 4+ X
Tiono( L): 2 24
5x10°F
_ 2z(t, —14x3600)
PER
1:L
t

t, =12x36004, +t

10

ao...a3,ﬂo...ﬂ3

ns

2-17

H X <157

. ¥ =157

2-18

pierce point

2-19



3 .
AMP =" o, @, 2-20
i=3
@, [rad]
Bo P
3 .
PER=)" B®, 221
i=0
Ol (4,,1,) EL AZ

semi-circle

0.00137

= o1 0% [sc] 2-22

7

¢o =, +wCcosAZ [sc] 2.93

¢ ¢ <0.416
¢ =4 0416 ¢,>0416 [sc] 2-24

~0.416 ¢, <-0.416

wsin AZ
=1 SC -
A s [sc] 2-25
(¢i ’ﬂ’i) @, [sc]
@, =g +0.064cos(4 —1.617) [sc] 226
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US Naval observatory

Ao A

F =1.0+16.0(0.53—EL)’

Atyre = Atg + Ao + Al(t _tot)

BLEVATION ANGLF (dogrea)

tUTC

tyre =t—Atyrc
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At

At =13s
i r, [m] p; [m]
o [s]
pseudorange rn=p, +CO=p, +5
P (x,y,2) i (X, ,2,)
pr =6 =x) +(y, - y) +(z -2 2-30
[m] N
I, = \/(xl —x) +(y,—y) +(z, —2)* +s
_ _ 2 _ 2 _ 2
.rz = \/(xz X +(y,—y) +(z, —2)* +s 531
' =\/(XN _X)Z "‘(YN - y)2 +(ZN _2)2 +S
X,Y,Z,9
_ )
X,Y,2
S=Co
i} S
X,Y,2
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XY,z

XO,yO,ZO

r Ar =r1 —r’
XO yO ZO SO
r XY,28
or, or,
&Z—(Xi —x°)/r’ E:_(yi -y’
GRS Ty
01 0S

XO,yO,ZO,SO

,s°
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x°,y%,z°%s° AX, Ay, Az, As

Ar, = %Ax+%Ay+%Az +%As
OX oy oz 0s

Ar, = 22 px+ Doy 4 o g Do 5
OX oy 0z 0s 2-34
or or or or
Ary, = —LAX+—CAY + —CAZ +—As
OX oy oz 0s
Ar, AX, Ay, Az, As
AX, Ay, Az, As x°,y° 2% s°
X' = x° + AX yi=y® + Ay
1 0 1 0 2-35
7'=7 +Az S =S +As
xtytzh st AX, Ay, Az, As
AX=[Ax Ay Az As] AR=[Ar, Ar, - ArJ
GAX =AR 2-36
G
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(o o oo o] [-(k-x) -(n-y) -(-2) ]
oXx oy o0z 0s r r r
% % % % _(Xz_x) _(yz_y) —(22—2) 1
Tk @ s|T " w2
8'.‘N a'._N a':N ar.-N _(XN._X) _(YN._y) _(ZN._Z):L
L OX oy oz Os| | Iy My My i
GPS -
G > G
AX =G 'AR 2-38
- gi
GAX +&¢=AR 2-39
&
£= 8;2 2-40
&N
&
& =AR-GAX 2-41
£ f
N
f=2(5i)2
i=1
=¢'¢ 2-42

=(AR-GAX) (AR - GAX)
= ARTAR - 2ARTGAX + AX'" (G'G)AX
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A 2ARTG+2AXT(G7G)=0
0AX

AX"(G'G)=AR'G
(AB) =BTA" (c76)
(G'G)Ax=G"AR
AX
AX=(G"G)'G"AR

AX

AX
AXT

(x,y.2)

AXAX" =(G"G)"GTARAX"

—(G'G)"ARAR"

ARAR' =5

ARART o
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(ciIn

2 2 2 2
O-XX O-xy UXZ UXS

2 2 2 2

. O O O O
T~}
H=(G"6)'=| Ty "y v “» 2-47

GZX Gzy o-ZZ O-ZS

2 2 2 2
o-SX o-sy GSZ GSS

H (x,y,2,5)

Root Mean Square

RMS positionerror = o%(H,, + H,, + H,,) 2-48

Dilution of Precision

Position DOP Time
DOP

PDOP :iJoXZX +02 +0% =\Hy +Hy, + Hy 2-49
O
TDOP:r£J6i=,Hh4 2-50
(o}

Geometric DOP

1
GDOP == o2 + 02 +0% +0% = [Hy, + Hy, + Hyy + Hy, 2-51
(o2
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RMS(3D position estimation error) = o - PDOP 2-52
RMS(Clock bias estimation error)= ¢ - TDOP 2-53
RMS(3D position and clock bias estimation error)= o - GDOP 2-54

C
AX
East,North,Up AX
(x,y,2) AX(yy) = (Ax,Ay,Az)
A)(L(x,y,z) = (AXE1AyN 'Azu)
AX oy [_| R O Ay | 5 | Ay -
As 0 1| As Y As
R, AX, = (A, Ay, Az, AS)
: i
EDOP? . . .
q ° NDOP? ° )
- ° ) VDOP? ) 2-56
° ) . TDOP?
East DOP North DOP Vertical DOP

HDOP = /H,, + H,, 2-57

~

VDOP =/H,, 2-58
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RMS horizontal error = o- HDOP
RMS vertical error = o -VDOP

2-59

RMS 3D error = \/aéE +oh Oy = \/afx

(j_k) Pik O i :O-kj(jik)
oo
P
00k

(X,y')

O-X’O-y pX,y
x? Xy

Z—2p, Y+ 2o

X 0,0, O,

C
(x',y') P C
-C
P=1-exp| —
p[ 2 j

P Xy

20
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2 2
+o,, +0, =c-PDOP 2-61
2-62
X=y
-pL K 263
2-64



_cov(x,y')

pxy - _ 2-65
0,0,
- C=6 P =95.02%
c,=0,=0 Pry =0 -
x*+y*=Co” 266
- P=05 C (L1774) 1.1774c
[5] Circular Error Probable drms
X, Y
drms =vo? + 0% =20 2-67
CEP =1.17740 = 0.833drms - -
Co® (C/2)drms? C=6 1.73drms
Co?  (2drms) C=8 - C
P =98.16% 2drms
X y drmszo, =0
2drms 2drms
Oy =0xO0p
2-68
o, =0,0,
- pxy X—Y,y—X
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Tokyo datum

— Tokyo datum
—_ Bessel
a 6378137m 6377397.155m
(@) 1/298.257223563 1/299.152813
1984
710K
Z(¥G8)
Y(TOK)
HWERED ﬂ\
T Y(GS)
X(TOK)
AX=-147.54m sl
’ AY=507.26m
X(WGS
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World Geodetic System

X X —147.54
y =y +| 507.26 2-69
WGS-84 z Tokyo 680.47

International terrestrial reference frame

— b

reference ellipsoid

ellipsoidal height

geoid
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ephemeris

International GPS Servise

107

ionosphere

ultra high frequency

sporadic E

kg

broadcast

precise ephemeris

1078

very high frequency



flare
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: 1s0 -— e o N—fe—]i20
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o
S 50 e o Py [ AR
=iy
=
< | ]
(8] "
1800 1850 1950 20007
L TS
refraction refractive index n
C
n=-— 3-1
\'}

Vv
dispersive

phase velocity group velocity



n _C n
p= o 0 Mg T
VP
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S r |
content
R
TEC = [n,()dl [m?]
S
GPS
np
40.3n,
n,~1- 2
40.3n,
o ¥ 1+ 2
GPS

At, :%.T(np(l)_l)ﬂ
:_%I%|

403 TEC
cf 2

¢_. p f2

_ 403-TEC

P f2

_40.3-TEC

TEC total electron
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scale height

T
rm—D
n
n-1=n;+n,
n, Ny
ng =3.73x107e/T?
n, =0.776x10"P/T
T e hpa P
H=e/E,x100 (%)
E hPa

3-13

3-14

3-15

hPa
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Saastamoinen Model
1973

20 Ls(m)
0.002277 1255
AL, = (P+ +0.05 [-e—B-tan?(90 - E) |+ 5, 3-17
cos(90 - E)| ,
E ()P Ty )
B Og ()
(90-E)
[km]}B[hPa]
00| 1.156
05| 1079
1.0 1.006
15| 0.938
20| 0.874
25| 0.813
30| 0757
4.0 | 0.654
50| 0563
- km
[=] [km]

600 0003 | 0003 | 0.002 | 0.002| 0002 | 0.002 | 0.001 | 0.001
660 | 0006 | 0006 | 0.005| 0005 0004 | 0.003 [ 0.003 | 0.003
700] 0012 ] 0011 | 0.010| 0.009 [ 0008 | 0.006 [ 0.005 | 0.004
730] 0020 0018 | 0017 | 0015| 0013 | 0.011 | 0.009 | 0.007
750 0031 ]| 0028 | 0.025]| 0023 | 0021 | 0017 | 0.014 | 0.011
760 ] 0039 | 0035] 0.032 | 0029 0026 | 0.021 | 0.017 | 0.014
770 ] 0050 0045| 0041 | 0037 0033 | 0.027 | 0.022 | 0.018
780 | 0.065| 0059 0.054 | 0049 0044 | 0.036  0.030 | 0.024
790 0087 )] 0079 | 0072 | 0065 | 0059 | 0.049 | 0.040] 0.033
795 ] 0102 | 0093 | 0085 | 0077 | 0070 | 0.058 | 0.047 | 0.039
800 ] 0121 | 0110 ] 0100 | 0091 ] 0.083 | 0.068 | 0.056 | 0.047




multipath

thermal noise



GPS

DGPS

(}:{W

rover

GPS

GPS
GPS
GPS
GPS DGPS
reference station
baseline
DGPS
Local-Area ‘ :#
Wide-Area
DGPS
Local-Area
DGPS
X, =X, -(X, - X,)
)(r,)(;
GPS
Local-Area

X,, X!

GPS

X,Y,Z

DGPS
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pt)=p(t)+e(t)+e(t) (t-t)

rr
u,r

P, =T, +c(étu —éts)+ I, +T, + &,
o =", +c(5tr —éts)+ I +T, +¢,

Cc b, s o

u,r

X=X

r

X® X

€& =I—-p
— ¢l -a)-1,-T -z,

p=p,te
~r e, =)+ (1, = 1)+ (T, =T, )+ 6, + 6,
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Local-Area

5 ~I,+ C(&u _&r)_'_ gp,ur

DGPS

DGPS

DGPS

Technical Commission for Maritime Servic

RTCM

10

Wide-Area

RTCM

—BIRAER
EEFHRER

FENELEER
#

FM

4-8

FM

RTCM Radio



- RTCM

DGPS

ADGPS

WGS—84

SN

DGPS

GPS

O(N[oO|A[WIN|-

DGPS

10 P DGPS

11 C/A L1 L2

20 RTK

21 RTK

GPS

L1

GPS kinematic GPS

GPS static GPS

GPS
GPS realtime kinematic GPS ; RTK-GPS
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GPS




RTK—GPS

cycles
¢L1:ﬂ“j[r_lLl+T]+ le(&u_&s)+NLl+g¢,Ll 4-9
A L1 r I T
f L1 &, N,
@
a GPS

- A a

AR =40
= =T (e 1) £, - ) (o, — )|+ N =N e
= ACPT AL AT |4 F AR 4 AN 4 g0 4-10
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o

a
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Adly =0 — b,
= =)= (e =T ) e, — ) - (o, — )+ NS = ND e,

_ 11 n n n n n -
= A — AL AT+ oA, +AND, + &0, 4-11
& n
GPS n
GPS GPS M
\ , / N\
\ / ;N
\ ’ \
\ ’ / \
\ 4 / \
\ / / \
\ J / \
) ’ / \
\ / / \
\\ /’ / \
®a,ny J/da,m ®da,n » \, ®b,n
\\ /7 / \\
\ ,I \
a
a b
C
n m
a,b a ¢a 1¢a b
n m n,m
¢b 1¢b Av¢a,b

AV = (g0 - g0 )- (o0 - 97) 412
= FAVE - AVIED + AVTI [+ AVNDT £ AV DT

AV = ZAVERT + AVNDY + AVe] 4-13
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3

GPS  n GPS

L
o
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o
3

N
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(2i-2)
RTK
A,B,C
A,B,C
A,B,C
v

AV@r(t+1) +)ul{r2 (t+1)-
AV (t+1)+ 2 +1)-
AV (t+1)+ A (t+1)-

AVH (t+1)+ A (t+1) -

A,B,C

b (M) yzE)  (+2)
(t+1)
r(t+ 1)) = {2t +1) - 6 (t+ 1)+ AVNE2 (t)
1t+l}:{rb3‘t+1 t+1}+AVN“’()
lt+1}={rb“t-|rl Ht+1)]+ AVNM () 416

t+1 }: {rb (t+1)-rl(t+ l)}+ AVNZL(t)

(i+2)

(Xb(t)’ yb(t)’ Zb(t))
RTK
RTK
D, 0, 0,
Vv Vv
R
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A,B,C

observable



RTK

RTK

A,B,C

— D, 0y, D, LN v
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L2

D, D, D
RTK
RTK
- RTK
- RTK
Geo++ Terrasat
Referenznetz Virtual Reference Station
PC PC
Lc
IGS
IGS
FKP
FKP RTK
VRS
RTK-GPS
- VRS
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FKP

FKP

A,B,C

VRS

VRS RTCM2.1
Type
1 1
3 29
14 GPStime 61
16 499
17 120
18 L1 L2 1
19 L1 1
20 L1 L2 1
21 L1 1
Referenznetz FKP
FKP
RTK-GPS
LMN
FKP  flachenkorrecturparameter
FKP
FKP VRS
FKP
FKP Geot++
FKP
FKP RTCM
Type
1 1
3 29
14 GPStime 61
16 499
17 120
59 1
FKP
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(0= 0]+ A My 0ot~ ) i) B )+ SN v

f? f,
4-17
A,B,C
L1 L2
| =40.3-TEC
Ay,
& - ‘rkl (t)( £y
M (1) Geo++ A
2i i A y o &), C i A
tu(t)= ‘rk (tx +A+M, ([t)+ C(&k —a )+f_ Ny +&L, 4-18

L
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~ ~ ~ ~. ! . _ 4-19
~ R+ ol () oo o) B i) i) o,
L
A, M, (t) ot &,
S,
A
5A¢/iAB,L = 5¢é,L _5¢/iA,L
~ ~ ~ ‘ : . - 420
AR + W (1) - GAE,, +A'?_g(t)_m,;8 (t)- B (1)+ A7
L
§A¢LC,L = 5¢(i3,L _5¢/L,L
~ ~ - i . . ~ 421
= OAA,c +IAM ¢ (t)+C- AL, +A'?—g(t)— ATac (t)- Abjc (t)+ oAE,
L
dispersive non-dispersive
L1 L2
geometry-free L L
i,disp 5AI iAB f|_22 i fLZZ i
5A¢AB,|_1 = 2 T 2 2 5A¢AB,L1 _ﬁé‘A¢AB,L2
le sz - le sz - le
N f2 . f2 . 4z2
5A¢/Ix’gl,s|?1 = szc = £2 sz 2 §A¢,IAC,L1 _fz—szzé‘A¢lAC,L2
L1 L2~ ' L2~ '
i,disp 5AI ,iAB fL21 i fL21 i
5A¢AB,L2 = 2 2 2 5A¢AB,L1 _ﬁ5A¢AB,L2
sz sz - le sz - le
YN | f2 - f2 - 423
5A¢/Iigl,s|?2 = szB = £2 Llf 2 §A¢,IAC,L1 _fz—Llf25A¢/lxc,L2
L2 L2~ ' L2 'u
L L (narrow lane)
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SAGLR Al _ -

AB,narrow T g2 2
fo-fo fo-13

SASIE® Alie _ fu-fi,

AC,narrow — T2 2
fu-fo fo—-14

(5A¢LB,L1 - 5A¢iAB,L2)

ionosphere-free

2
I
2 2
le_ fL2
2
sz

£2 f2
le_ fL2

S f2 i
I = gl -
= T2
S f2 i
5A¢k2?ﬂidlsp = %éAﬁAC,Ll -

2 2
L fL2

5A¢;\B,L2

5A¢LC,L2

(Ddisp — 5A¢giBs,pHaI'I’OW
§A ¢disp

AC,narrow

—di
(I)non—disp — 5A¢'2gl]l-lfsp
NG

(0. 2)

>
Il

|:(0|3 —Pa X’B _ﬂ’Ai|
P —Pa /1C _iA

FKP

e

.

0

N, _ FKP
E, . FKP
N, - FKP

21

(5A¢LC,L1 - 5A¢,LC,L2 )
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type

FKP

123 4567 89 0111213415161

FKP

BRADN2I22MEETEIN

v

HEADER1

HERDERZ

HEADERS

PARITY
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GPS t

ime

GPS time

Adistance(km)| A (km) A (km) latitude(<) longitude < height m

0 0 0 35.66369728 139.6306503 82.57

10.66 1.12 10.60 35.75921044 139.6430323 85.52

20.95 16.47 12.94 35.78021472 139.8128122 44.62

24.63 24.60 1.34 35.67546419 139.9023545 43.52

37.81 37.80 -0.64 35.65720675 140.0480931 43.73

107.32 75.92 75.85 36.34437156 140.4763331 71.61

870.49 145.83 858.18 43.40468233 141.4311721 76.06

11.78 3.87 -11.13 35.56340294 139.6733532 47.44

40.26 -14.96 -37.38 35.326681 139.4660697 46.45

4411 3.11 -44.00 35.26709311 139.6648381 60.37

62.33 -44.42 -43.73 35.26859969 139.142415 64.22

136.17 -114.33 -73.96 34.99052619 138.3782959 64.47

1,504.06 -1,168.40 -947.12 26.44692931 127.8327271 144.75

SV1 SV2 SV9 SV26

7000s [ 14000s [ 7000s [ 14000s | 62000s | 70000s | 62000s | 70000s

19.20 26.67 30.38 66.19 27.69 83.30 67.68 40.41

19.27 26.63 30.37 66.30 27.58 83.42 67.74 40.73

19.19 26.47 30.22 66.27 2751 83.40 67.64 40.89

19.05 26.42 30.13 66.12 27.59 83.24 67.47 40.93

18.95 26.30 29.99 66.05 27.57 83.17 67.35 41.05

19.25 25.74 29.65 66.75 26.71 83.85 67.69 4173

24.28 22.77 29.39 75.09 19.08 84.95 72.15 44.87

19.10 26.66 30.33 66.05 27.78 83.16 67.53 40.67

19.03 26.90 30.79 66.06 28.10 82.91 67.44 40.38

18.86 26.74 31.15 66.40 28.10 82.79 67.25 40.54

19.18 27.21 32.33 67.08 28.26 82.90 67.61 39.93

1941 27.97 33.02 66.86 28.78 82.62 67.84 39.26

18.90 40.60 41.07 55.76 40.59 68.43 62.33 25.52
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km SV1 SV2 SV9 SV26

10.66 0.013 0.016 0.014 0.006

20.95 0.015 0.024 0.021 0.007

24.63 0.023 0.026 0.034 0.007

37.81 0.030 0.037 0.051 0.011

107.32 0.062 0.116 0.083 0.036

870.49 0.677 0.602 0.437 0.090

11.78 0.018 0.013 0.013 0.006

40.26 0.036 0.049 0.022 0.013

4411 0.044 0.049 0.024 0.014

62.33 0.039 0.085 0.032 0.019

136.17 0.076 0.170 0.079 0.027

1504.06 3.084 1.033 2.245 1497

N R Al



GPS
MH , L MH

P = r+c[5tu —é’[s]+ I, +T+e,,

Plo = r+c[é’[u —&S]+ I, +T+e, .,

r C
| T &
L1
e ()
pLL (szl_fLZZ) L2 L1
le,L2 L L

P = /1[1[" -1y +T¢]+ le(&u _5[5)"' Ny, &40
P, = /1[12 [r —l, +T¢]+ sz(étu _5[5)"' N, LD

L L L1
5-3
&,, &
5-4
5-5



A, L1L2

L1
2
fo

|¢,|_1 :m[ﬂbu(@_l - NLl)_}“LZ(¢L2 - NL2 )]

L1 L

p,L1 I—¢y|_1
4.L1

$,L1

N L1,L2

5-6



0
- B ___-—"-'-——--
2 0.30
-4 — ] 0.30
-6 —
" - 2.40
4.37
-10
7000 8000 9000 10000 11000 12000 13000 14000
GPStime(s)
0
-2 "]
— e, 0.30
- 0.32
-6 —_—
-8 - 2.40
-10 3.47
7000 8000 9000 10000 11000 12000 13000 14000
GPStime(s)
0
2 — 0.30
-4 - - 0.30
-6
___‘___—ﬂ-"'_--'
-8 2.40
7.76
-10
7000 8000 9000 10000 11000 12000 13000 14000
GPStime(s)



5
0
-5
-10
-15
7000 8000 9000 10000 11000 12000 13000 14000
GPStime(s)
5
O —
-5
-10 |
-15
7000 8000 9000 10000 11000 12000 13000 1400
GPStime(s)
5
0
-5F
-10
-15
7000 8000 9000 10000 11000 12000 13000 14000
GPStime(s)

0.56
0.55

3.62
5.24

0.56
0.54

3.62
4.63

0.56
0.55

8.72
5.24



svi | sv2 | sv9 | Sv26 sVl | sv2 | sv9 | Ssv26
2.40 3.62 5.90 5.92 0.30 0.56 0.13 0.05
4.37 5.24 7.74 7.65 0.30 0.55 0.13 0.05
7.03 8.10 10.41 10.29 0.29 0.56 0.13 0.05
3.47 4.63 6.95 6.81 0.32 0.54 0.17 0.03
7.76 8.72 11.09 11.17 0.30 0.55 0.13 0.05
3.44 4.47 6.09 6.12 0.56 0.59 0.19 0.05
4.76 5.85 8.39 8.36 0.30 0.55 0.13 0.05
4.06 4.94 7.18 7.13 0.32 0.53 0.13 0.05
3.97 3.68 7.39 7.35 0.31 0.55 0.13 0.05
2.50 7.98 6.14 6.06 0.31 0.55 0.13 0.05
6.87 513 10.14 10.08 0.34 0.53 0.12 0.06
0.91 2.26 6.00 5.86 0.74 0.26 0.05 0.12
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km SV1 SV2 SV9 SV26
10.66 0.02 0.01 0.01 0.01
20.95 0.02 0.01 0.01 0.01
24.63 0.01 0.01 0.01 0.01
37.81 0.02 0.01 0.01 0.01
107.32 0.05 0.06 0.02 0.03
870.49 0.34 0.20 0.09 0.05
11.78 0.01 0.01 0.01 0.01
40.26 0.03 0.03 0.01 0.01
44.11 0.03 0.04 0.01 0.01
62.33 0.04 0.04 0.01 0.01
136.17 0.05 0.06 0.02 0.02
1504.06 1.44 1.55 0.06 0.07

AVT =0
GPS

Saastamoinen model
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km SV1 SV2 SV9 SV26
10.66 0.005 0.004 0.003 0.000
20.95 0.003 0.016 0.008 0.001
24.63 0.010 0.013 0.004 0.003
37.81 0.015 0.016 0.008 0.006
107.32 0.029 0.049 0.020 0.014
870.49 0.253 0475 0.399 0.011
11.78 0.011 0.003 0.002 0.001
40.26 0.021 0.011 0.005 0.005
4411 0.023 0.014 0.012 0.000
62.33 0.020 0.023 0.011 0.010
136.17 0.035 0.049 0.030 0.026
1504.06 0.282 0.518 0.755 0.591
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0.013 0.011 0.012 0.012
0.015 0.016 0.013 0.013
0.023 0.022 0.022 0.022
0.031 0.025 0.027 0.025
0.062 0.059 0.038 0.021
0.677 0.687 0.356 0.376
0.018 0.019 0.016 0.021
0.036 0.036 0.012 0.019
0.044 0.042 0.033 0.039
0.039 0.041 0.012 0.019
0.076 0.053 0.048 0.018
3.084 3.325 1.882 2.107
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